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7. Determine each t,r_ig_ran%wg a calculator.

HW PC 11 Ch 2.2 Trig Ratios of Sine Cosine and Tangent Functions
If sin &is equal to a negative ratio, then which quadrants will the angle be? What if the ratio is positive,

which quadrapt is it in?
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If cos @ is equal to a negative ratio, then which quadrants will the angle be? What if the ratio is positive,

which quadrant is it in?

If tan & is equal to a negative ratio, then which quadrants will the angle be? What if the ratio is positive,

which quadrant is it in?

If & isin quadrant 3, then which trig ratio will be negative? sin# cos & or tan & ?

If & isin quadrant 4, then which trig ratio will be negative? sin# cos®& or tan & ?
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g) tan150°

h) sin(-300°)

szl w2
5 -

fsmo=w cano=x
P R YRR X ‘.’_}

3¢

&

i) cos180°

[CYRNTR
K-
-\

Losiio = =\

o

8. A pomt ‘P created by the endpoint of a terminal arm is on the circumference of an unit circle o‘radius 1 5
Given the angle in standard position, find the coordinates of point 'P".
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9. Given each trig ratio, find the s

a) sin@ = 0_

cosf= B,
tan @ = =
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10. Solve for & , with 0 < & < 360°.
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11. The point (—3,5) is on the terminal arm of angle & in standard position. Find the anglefpradiaasto one

decimal place . W @ “"v«%—':“;
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position and then find the coordinates for “P”
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12. The angle @is in the third quadrant and cos @ = — 3 Draw a diagram to show the angle in standard

O(,»Q:"_‘*_éw.&
» 0 S« h.x('k .
® lovee wn [
~ N P (""\'7’\ o !
13. If tan @ = —
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, angle @ is in standard position, and its terminal arm is in quadrant Il. What is the exact
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14, If sin @ = —O, draw a diagram to show the angle(s) in standard position and the possible coordinates for

——

point “P”. Then determine the value(s) of cos & and tan &
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15. Point P(3,-5) is on the terminal arm of an angle in standard position. What is the value of sin@xcos@?
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16. What |stheva|ue0 sin ><T;an9 if point(P(1.957, -0.412) )s on the terminal arm of a circle with a radius of
2 units long?
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17. If cos@ — then what is the value of tan &in terms “a”?
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